
Multiplier des fractions mixtes négatives (I)

Nom: Date: Note:

Calculez chaque produit.

1. (−414) × (−112) =

2. (−412) ×
3
4 =

3. (−112) × (−534) =

4.
1
5 × (−246) =

5. (−134) ×
1
6 =

6. (−413) × (−113) =

7. (−246) × (−235) =

8. (−223) × (−235) =

9. (−126) ×
1
3 =

10.
1
3 × (−423) =
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Multiplier des fractions mixtes négatives (I) Réponses

Nom: Date: Note:

Calculez chaque produit.

1. (−414) × (−112) = (−174 ) × (−32) = 51
8 = 638

2. (−412) ×
3
4 = (−92) ×

3
4 = (−278 ) = (−338)

3. (−112) × (−534) = (−32) × (−234 ) = 69
8 = 858

4. 1
5 × (−246) = 1

5 × (−166 ) = (−1630) = (− 8
15)

5. (−134) ×
1
6 = (−74) ×

1
6 = (− 7

24)

6. (−413) × (−113) = (−133 ) × (−43) = 52
9 = 579

7. (−246) × (−235) = (−166 ) × (−135 ) = 208
30 = 104

15 = 61415

8. (−223) × (−235) = (−83) × (−135 ) = 104
15 = 61415

9. (−126) ×
1
3 = (−86) ×

1
3 = (− 8

18) = (−49)

10. 1
3 × (−423) = 1

3 × (−143 ) = (−149 ) = (−159)
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